Leuze
BEAR#BIER
T fm iR e 5 SRR R I 5T B BB 4% RhaER
Bt 4% 50150050
PRK5B.M1/4X-200-M12

E

- BRBH
- RYEE

L AR

- @R

- BERET

- RETERR KAE
- ERESHE
- e

- E#

(€ @ =~

LISTED

B TR EE

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com REBFEAREEHA
The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 + f5E : +49 7021 573-199  chi » 2025-08-01 1/8



FREA S BN ERSE K BARER - BH4%S: 50150050 « PRK5B.M1/4X-200-M12

BRSH

ERiiE

EX ]
THERE
R A

HEHIE
KM EEE

R3S E R R

SR

PSS
RRES KT
LED 44

BAKE
RiF R

1 B BE
HEBE Uy
HRHGE
FH e

i
BFIFRERHHH

FREMH
£
BERE
RAFF KRB
FrRBE

FRERHA
M
FERE

B 7

FrRIAE
1) RSz B 8]
FERT

EE
BOKE

The Sensor People

5B

& RE
FEANTIRE
AR5
EBERERN

0.03..45m (RIEMKIEE ), FK
5{28 TK(S) 100x100

0.03...6m (BBERNTEE ), wREEHE
TK(S) 100x100

LED, 46

645 nm

o

BH4 (1BHE EN 62471)

AR AR
TR

10...30V, DC, SHFERRKLYE
0..15%, RE Uy
0..20mA

14

BFFXEBME
DC

50 mA

1K : <2.5V

B 2(Ug2,5V)

SEE, PNP
=8
(BB Uy R )

500 Hz
1 ms
300 ms

Leuze electronic GmbH + Co. KG

In der Braike 1, 73277 Owen

Bl
BAKE
PEMH
BARE
SEBE
BOBE
SRGUAANE
e
R
5%
EoLE)

WS

R¥(Ex@mxk)
AR

BRANTR
BELEMR

BE

A=EE

REHH

MRFRANE

BREMER

BREH
LED¥
By
RIS TRE

BT R
HRERE , T
HERE ,
TN

[EAE2S3
REER

AIE

SR

info@leuze.com « www.leuze.com

BBif : +49 7021 573-0 « £ : +49 7021 573-199

Leuze

fiteg B8R
EemH
Tk B
200 mm
PVvC

26
3®
0.14 mm?
M12

sk
R

4 NBIf
A-YRH5

11 mm x 32.4 mm x 20 mm
ik

PC-ABS

25

409

a6

B

AN M3 BHEE

B AL R FIRE
ECOLAB

LED
24

270° B firit
RBERE

-40...60 °C
-40...70°C

IP 67

1l

cULUS

IEC 60947-5-2

REBAREEHRF
chi « 2025-08-01 2/8



FREA S BN ERSE K BARER - BH4%S: 50150050 « PRK5B.M1/4X-200-M12

HRSH Leuze

BBES 85365019
ECLASS 5.1.4 27270902
ECLASS 8.0 27270902
ECLASS 9.0 27270902
ECLASS 10.0 27270902
ECLASS 11.0 27270902
ECLASS 12.0 27270902
ECLASS 13.0 27270902
ECLASS 14.0 27270902
ECLASS 15.0 27270902
ETIM 5.0 EC002717
ETIM 6.0 EC002717
ETIM 7.0 EC002717
ETIM 8.0 EC002717
ETIM 9.0 EC002717
ETIM 10.0 EC002717

R~ HE4&

AR AR EH
20 A %®LED
L M3 A 1 B B #GLED
E C1 s
B = C2 k5izs
@ e C1 D 270° sfiit
N] . E musw
< ). <] A1 <
9 @ a 1 o
E @ ~ \\
‘ ~ Cc2
gl I:rl ~ —
32} +
2,9 M8x1
10,6 11,4

M12x1

M8x1

==li==

M8x1

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com REBFEAREEHA
The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 + f5E : +49 7021 573-199  chi » 2025-08-01 3/8



FREA S BN ERSE K BARER - BH4%S: 50150050 « PRK5B.M1/4X-200-M12

- Leuze

1
ae g R
E5mH
£l sk B
BHKE 200 mm
FEME PVC
B 26
SL&BE 3%
BAOBE 0.14 mm2
IR M12
Bl 1Ak
gl i
5| H %k 4 N5|H
Pt A-4m1g
51 5| % B 2
! v X‘% 1
2 n.c. ( /_
3 GND M )
4 ouT 1 k/\\
4
~

I Rz 3 YEE B (TKS100x100)

y x [ [m]
150 y  f®% [mm]
100 — —
50
0
p 3 4 5 6 7
-50
—~
-100
—
-150 X
. I 2
=TT T
X
TheefE &R
y x  [BIBE [m]
70 | | y  IhEeER
60 JE—— 1
50 / \ A i A TKS 100x100
---- B
20— N T c h B TKS 40x60.A
304 N[ T o H C  TKS20x40
! D &fE REF 4-A-50x50
20 1 N
10 e~
O J Totmznad T = = I ————— X
0 1 2 3 4 5 6 7
Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com REBFEAREEHA

The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 + f5E : +49 7021 573-199  chi » 2025-08-01 4/8



FREA S BN ERSE K BARER - BH4%S: 50150050 « PRK5B.M1/4X-200-M12

BRENE TR

LED ER
B, KR
2 26, K%

f 5 88 M e SRR

BHRmS = KNEEE
KNSEERR
50108300  REF 4-A-50x50 01..13m
01..16m
50024127  TK82.2 0.05..35m
0.05..45m
50022816 TKS 100X100 0.03..45m
0.03..6m
: 50081283  TKS 20X40 0.04..15m
0.04..19m
50023525  TKS 30X50 0.04..1.8m
] 0.04..22m
4
"
50040820  TKS 40X60 0.03..2.8m
= 0.03..33m
50125455  TKS 40x60.A 0.03..26m
0.03..3m

Leuze electronic GmbH + Co. KG

The Sensor People In der Braike 1, 73277 Owen

Leuze

W8

HEXE
R

i8R

&1t dEH

R EHE: 50 mm x 50 mm
MEMLEE: PMMA
BE: B

&It @R

=ERS: 4 mm
RETEER: 79 mm

gk 22

Eir: 2

MEHLZER: PMMASN
EE: BARE, EEAIMY

®it: B

=FRS: 4 mm

& 51TE: 96 mm x 96 mm
prp bl

Ea: 8

MEHEEE: PMMASN
EE: BARE, HEH

&1t B
=fER~:2.3mm

R &IE: 16 mm x 38 mm
ME: R

i 2

MEHEZEE: PMMASN
EE: BARE, #aH

&it: R

=R 3mm
RESE: 27 mm x 44 mm
gk B

Hir B

MEMEE R PMMASN
EE: BARE, #EH

&t B

=FR: 4 mm

R &HE: 37 mm x 56 mm
Mk R

i

MEHEZEE: PMMASN
EE: BARE, #EH

&t B
=fER:2.3mm

R &1E: 36.8 mm x 55.8 mm
wEk: R

Ea: e

MEMELE R PMMASN

EE: 1RHE, ¥E7

info@leuze.com « www.leuze.com
BBi% : +49 7021 573-0 « £ H : +49 7021 573-199

REBEAREEHRA
chi « 2025-08-01

5/8



FREA S BN ERSE K BARER - BH4%S: 50150050 « PRK5B.M1/4X-200-M12

7 S ik Leuze

==

F=mEM : AAASB D-E.FF/GG.HH-JJ

AAA5B IhEEREE /&1t
LS5B : J&T N iERES (K% )
LE5B : X434 s Bag (5 )
PRK5B : 5 ffm 8 Y 88 #9551 2 K e % iR
HT5B : & SHHIH8 = 511 R8s
ET5B : #8585 [z 5 K ea.4% Bef

D Pl

BUH : 4%

| : THRk

PP: Power PinPoint® LED
E TR B AEEE (")

BUH : RNSEERBHRIER
xxxF : iR B FAEBE [mm)
FF &
1: B{it 270°
D : 45 DR = WERN
M : ¥ FHNRAERERIRG
XL : KB
SR 5T R K Btk BER (PRK) LEUH : RASEE AR A
ET/HT LEUE : AEX 8 REMA T HIEEE
GG o5 i / Zhag
- NPN @&t , 28
. NPN &SR , B8
- PNP @SRt , Tl
- PNP &S Hin , &
CELEBA (BESEFEESEL)
: SR A
HH SR
HUH : B8, fRAKE 2000 mm , 3 &
M8 : M8 EliE#ERR |, 4 £ (#@:k)
200-M12 : 845 | KE 200mm , # M12 EE$#E8S , 4 4, BF (L)
200-M8 : 4% , &E 200mm , # M8 EERESS , 4 &F , B (L)
200-M8.3 : B4 , KE 200mm , # M8 EEREES |, 3 4 , B (f@k)
200-M8.1 : B4 |, KE 200mm , WK IEH , M8 BIFEREEE | 4 4 (#Ek)
M8.3 : M8 EiE#Es , 3 & (#@k)

XOoUusrzZN

JJ

A
Y1 TERAEHEELL

& PR AR ERBIIRBEERNT S MM www.leuze.com,

L

/\ wsasnemne

O ARFERAFLREERES  TERTARRY,
L QEEART AR NATRBEAZET,

O FARTE ET A& A A R,

HIFULMA :
& QEMATF2R®BE

% These proximity switches shall be used with UL Listed Cable assemblies rated 30V, 0.5A min, in the field installation, or equivalent (categories: CYJV/
CYJV7 or PVVA/PVVAT)

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com REBFEAREEHA
The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 + f5E : +49 7021 573-199  chi » 2025-08-01 6/8



FREA S BN ERSE K BARER - BH4%S: 50150050 « PRK5B.M1/4X-200-M12

BofF
BERERAR - B

B trms =L

50130652 KD U-M12-4A-V1-
050

i 50130690 KD U-M12-4W-V1-
050

1=

ZERSG - REXE
REGE  EH

50118542 BT 200M.5

BT 205M-10SET

ﬂ E 50124651

RE RS - BEEF
REGE  EH

50117829 BTP 200M-D12

50117255 BTU 200M-D12

B+

EEBY

ERERY

Bt

REXR

RERZRE

B

RERG

ZRRE

Leuze electronic GmbH + Co. KG

The Sensor People

In der Braike 1, 73277 Owen

Leuze

%

HERE: L, M2, B, fREE, A-4RED, 4 NSIRD
Ei#ZK, LED: &

2 FF O

BR® &

BYKE: 5,000 mm

PEME: PVC

HERET: Sk, M12, L B SRR, A-4RTB, 4 NBIRD
E#k, LED: &

HEE2: FF O

BRE B

B KE: 5,000 mm

FEME: PVC

88

REREZRIT BEAK LI
REMEEMF: BARE
FEMEEMF: BEX, ERT M3 34
RERERE: TR

M T

ZHEEZ R LEAE
BEMNEEH: BILRE
KEMBEEMF: BEER
RERIRZRA: QI
HH: 2R

e

REBZRIT BHPE

BEMEEH: EBTF12mmiT
RKEMEEHS: BHEX

RERZRE: ARE, WFT, ek, 360
wE: 2R

RBERIRZRI RERE

REMEEH: ETF12mmiT, k-2 8 E
FKEMNEES: REX, AT M3 B
RERZRE: ARE, AFT, fekk , 360
2R

info@leuze.com « www.leuze.com
BBi% : +49 7021 573-0 « £ H : +49 7021 573-199

REBEAREEHRA
chi « 2025-08-01

7/8



FREA S BN ERSE K BARER - BH4%S: 50150050 « PRK5B.M1/4X-200-M12

B Leuze

b FA A AEFR SR E NS 5 A M B A E R TUE K T 8IET .

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com REBFEAREEHA
The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 + f5E : +49 7021 573-199  chi » 2025-08-01 8/8



